_MATHS_
PREVIOUS YEAR

QUESTION PAPER




02 March 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

BANK ONLINE LIVE CLASS

(BANK PO & CLERK)

09 March 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

16 March 2022

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM
BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM
SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL

POMING ONLINE BACHES
March 2022

23 March 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

@ www.mahendras.org ) 7052477777/7052577777

30 March 2022

08:00 AM to 10:00 AM
BANK ONLINE LIVE CLASS

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

45% of a number is 18[_1, then find the 1/8th of that number.
[l G=AT BT 45%, 180 B, dl 3T T B 1/8 HIT Td DIfOIU]|

a)
b) >
C)]

d) .




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

The area of an equilateral triangle is V48 cm?2. What is the altitude of an
equilateral triangle?

Uh JUdTg FAYS DT &aAHd V48 cm? g | JHEIg FAYS D SHdlg &1 572

a) 3 om
b) s
C) 2 cm

d) e




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The marked price of an article is 20% more than its cost price. If a shopkeeper
make a 40% discount on that item and sold it at Rs. 2592. What is the marked
price of the item?

Uh 9% @1 Siidhd Hed 39 ol e Y 20% 3P g | dlc DIg ghHaR 39 axd
TR 40% I ¥ adl g AR I 2592 3L H &9dl g | 9¥d DI 3ifdbd G 1 52

a) ;. 4020
b) . 4000
C) 4320

d) . 3e00




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A 600-meter long train crossed a man, who is standing on a 1200-meter long
platform, in 24 seconds. Find how much time will the train take to cross the
platform.

600 Hiex ddll Tdh ¢ 1200 Hier Td WehHIH R Tg Udh G3Y &l 24 He H UR
Bl o | dl J1d DIOY b ©ThH DI UR 6 H ¢ [ 7Y aill?

a) 0 sec
b) 0 sec
C) 2 Sec

d) D sec




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Aman travels a distance of 48 km from Agra to Bhopal with a speed of 4 km/hr
and also travels a distance of 54 km from Bhopal to Chennai with a speed of 6
km/hr. Find the average speed of the whole journey?

3H PRI Y HIUTd deb 48 fdowil 1 gl 4 fohwdireer ot 1fd A 79 HRar g SR
YOI o g db 54 [Hal I g3l i 6 fohdi/eer &l 71fd I 79 Hdl g | O3 A1 Bl

3 TIf 3T DI
a) o
b) 21 km/hr
C) 21 km/hr

d ) n/nr




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A mixture of milk and water contain 10% water. Determine the amount of water
to be added to the mixture in order to change the water content to 20% if the
initially the mixture is of 40 L7

S8 3R Gl & U [AY01 T 10% U1 ¢ 1 Ifc YRS fBrgiur 40 diex o1, dd iy o
OId B! HIEFT DI 20% &1 o [T THA™ S ard U=l &1 | AT DI |

a) =
b) s5d=
C) 5 AieR

d) e




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

If we mix the present quantity of wine and water, the ratio of wine and water will
3 : 7. Find the amount of wine that should be replaced by the water, so that their
ratio will be 1 : 9 if the initial quantity of the mixture is 30 liters.

gfc g9 TRME 3R YT BT TdHH JET1 DI [Ferd ¢, df RIS SR Ul &1 S 3 - 7
T YR I AT J1d DI, St g1 wid1iad g1 =g T, difds 3T 3urd
1: 9 gl, gfc [Ayor ot YRf¥e AE1 30 il g |

a)
b)
C) )

d)




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

P and Q can complete the work in 10/3 days, Q and R can complete the work in
20/3 days while P and R can complete the work in 4 days. In how many days P
alone can complete the work?

P 3[R Q U H1H Bl 10/3 &A1 T U1 ®R Ihd &; Q 3R R, 20/3 &l H & UR]
P FDhd o, vldid P AR R, 4 [&] H B URI B Jdbd g | P 3Hbdl 39 DI D)
[ha o1 I o1 HR gl 52

a) '0 days
b) » days
C) 0 days

d) S days




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The average age of a class is 15 years excluding the teacher. The average age
of the class is increased by 1 when a teacher of age 36 years is included in the
group. Find the number of students in the class.

U D&l H (R4 Dl DISHR, DT Pl 3d 31 15 ¥ ¢ | 36 Y B AR & A&
P! gHg U AMHA D IR D& DI 3d ARG H 1 DI 9l Bldl o | D&l H DI Dl
AT T DIy

a)
b)
c)
d) ;




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A alone can complete the work in 40 days and B alone can complete the work in
60 days. A and B works on alternate days then work will be completed in -

A 3{dl U DIH Bl 40 feHl T G PR bl § 3R B 3fdved H1H DI 60 fe-1 H W

Ch

DR FDhdl 5| A R B D UD &1 H B1H Hd & dl D fdba- a1 H W1 ghme?

a) ' days
b) » days
C) ) days

d) - days




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Total cost price of notebook and book is Rs.350. The profit percentage earned
after selling a book and a notebook is 15% and 10% respectively. Total selling

price of a book and a notebook is Rs.395. Find the difference between the cost
price of a book and a notebook.

qledd 3R Y&id BT Dd oy Hed 350 3T ¢ | J&Kid 3R Alcdd dd o dlq
3ot AT UIA=IT HHTT: 15% AR 10% ¢ | UP [hdld 3R Up Alcdd &l d 9y
U 395 304 g | U YD 3R UP Hlcdd & hY e P &g P 3aR J1d P |

a) 3.90
b) 3.80
C) .90




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

fAoferRad SRERAT §¢9 & ol Treas J1d Difore?

Find the median for the following frequency distribution?

X 1] 3 (95|79 |111]13|15 |17

f 8 12 7 11 10 9 15 11 6




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The average age of 24 girls and their teacher is 25 years. If the teacher’s age is
excluded, the average reduces by 1. What is the teacher’'s age?

24 TSiddl 3R 3D A& I 314d 311G 25 98 ¢ | gl faid P o1 Dl geT
[Ggr ST, T 3fid 1 6 ol SITdl § | [RI&d DI 31 1 572

a) 9vyrs
b) 9 yrs
C) 9 yrs

d) 8 yrs




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

Find out the median of values of this set 11.1, 12.1, 11.5, 11.9 and 12.3
11.1, 12.1, 11.5, 11.9 3R 12.3 T JHG & HILDT BT HI F1d Pifor]

a) 1.1
b) 15
c) 19

d) 21




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

What is the area of rhombus if its two diagonals are in ratio 3 : 4, and sum of
diagonals is 56 cm?

3G JHIGUS DT &AHd J1d HIfOY, [SIP al f[ddul 3 : 4 & U H §, 3R

[qull &1 T 56 THI 87
a) 0 cm?
b) 4 cm?
C) 0 cm?

d) 0 cm?




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Find the amount at compound interest on Rs. 1000 at 20% per annum for nine
months if the interest is compounded quarterly.

1000 YT D1 A WR A1 HIH & 11T 20% Ufday i ax I Ahdls STl TR AT
I1d Pifore | afe s FaRie =0 3§ Sgifoid gidi o

a) s. 1160
b) s 1157.625

C) s. 1200

d) s. 1100.625
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In a rhombus, the area and length of one of its diagonals are 56 cm? and 7 cm
respectively. Find the sum of the squares of both diagonals.

U HAgUS I, &A% 3R 58 UD [dpul Bl ddlg HHR: 56 T2 R 7 4l 5

&l faull & 971 T AT J1d HifoIg |
a) Jcm
b) D cm
C) D cm

d) Jcm
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If x + 1/x = V3 then find the value of x%° + x84 - x8 + x'2 - 2.

gfe x + 1/x = V3 8, Al x%° + x84 - x78 + x72 - 2 P A J1d Dol |

a)
b)
C)
d)
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The simple and compound interest that can be earned in two years at the same
rate on a certain sum is Rs. 1,000 and Rs. 1,040 respectively. What is the rate
(percent per annum) of interest?

U (AT MR R qHHE &R I &l aul § 3{ioid fhar S ardr QIR 3R Ibdls
SIS HHRT: 1,000 TUY 3{R 1,040 39U g | &S I & (WARId Uld a1ivia) o1 572

a) 11
b) s
C) 10

d) 5
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The sum of any three consecutive natural numbers where first number is even
number is always divisible by?

fop il T <19 PHRTA Urdbd AT &1 RT S5l Ugall SRe] I AT ©, GHRM
fqursT gidt 872

a)
b)
C)
d)
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A person spends 90% of his income. If his income is increased by 40%, he

increases his expenditure by 30%. What is the percentage increase in his
saving?

Uch Afad (U1 3R Dl 90% Hg Bl g | Afc 3B 31 T 40% @I di Bldl 6,
I 3G 30 T H 30% DI dla DI 3P| d9d H Ufa=Id dls fba-l g2

a) %
b) 300/13)%

C) 0%

d) s00113)%
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A shopkeeper normally makes a profit of 20% in a certain transaction, he weight
900 grams instead of 1 Kg due to an error in weight machine. If he charges 20%
less what he normally charges, what is his actual profit or loss percentage?

Uh GhHeR U Fle H JMHRId: 20% I A1 Sfoid Hdl g, o HA=iH H Th
GRTd| & HRUGg 1 fHUT DI ST 900 UMH duiH diddi ¢ | Ffc dg JHR DI gai-l
4 20% PH eI Adl g, dl 3BT dRKidd a1y AT g1+ Wic=Id 31 872

a)
b) %
c) %

d) %
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Two-person A and B are 830 km apart. A takes his bike and move towards B at
a speed of 80 km/hr and B takes his car and moves towards A at a speed of 100

km/hr.If A started at 11 am and B started 2 hours later. at what time they do
meet?

&l fdd A 3R B U ga¥ I 880 fhHI GR G 1 A 3Tl a5 oidl § iR 80 fabdiree
D1 71 A B Bl 3R d¢dl § 3R B 391 ®R ddl © 3R A DI 3R 100 fHHIES B

A gddr ol afe A, 11 S0 I UR™ Hdl 6 3R B, 2 ¢ dIc -l YR
FHIdl o, dl d fog 999 fidad g2

a) "
b) -
c) oo

d) Jm
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Find the value of “?’

27 x (1)* +331% of 20% of 5% + 162% of 6 =7
fFgferRad uy o <2 &1 A4 J1d Hifow

)? +331% of 20% of 52 + 162% of 6 =7

a)
b)
c)
d)
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P sold a pillow to Q at 20% profit and Q sold to S at 15% loss. If P sold it to S at
the selling price of Q, then what is the profit% or loss% P would make?

P Q®I TP dfbdl 20% A1H TR §971 IR Q 7 S Bl 15% 1< IR &7 afc P 39 Q
P [dhd Ged GRS Bl d9d g, dl P Bl TMH% T §1H% b d-T1 gl

a) % profit
b) /o profit
C) /o 10SS

d ) o 0SS




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the total number of factors of '900".
'900' & TUHYUS| Dl Do HBAT I DT

a)
b) ’
c) °

d)
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Each side of a rectangular field is diminished by 25%. By how much percent is
the area of the field diminished ?

Uh AdIHR Wd Dl YD Yoll 25% HH gl SIldl ¢ | Wd b &A% d H fbd- Uid=rd
I DUl 315 B2
a) 75%
b) 2.6%
C) 323%

d) r114%




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If V be the volume of a right circular cone, A be the area of the base and H be

its height, then the value of % IS

a)
b)
C)

d) one of the above
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A person sold two shirts each for 440 rupees. On one he gained 10% and on
the other he lost 60%. What is the overall profit or loss percentage?

U Afad &l [ H Y YD Dl 440 300 H dd | T TR 39 10% 1Y 3R GO R
3 60% DI Bl &5 | THY ATH T 1 UidId o1 572

a) 1.33%
b) 33%
C) !.33%

d) 233%
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A shop-keeper marks an article, bought by him, at 25% above the cost price
and allows a discount of 20% while selling it. What percentage of profit he gets?

U GPHCR U RG] s [hl a¥q Bl dFTd Hed I 25% (€8P IR 3{fdbd Hral
SR U d9d T 20% DI < adl o | 3 a1 Uid=rd 1 a1 Ui gidl 872

a)
b)
C) /o

d) o profit or loss




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If N = 79° - 3°8 then the digit at the unit place of N is

gig N =7%-3%g dIN & shls I IR 3D o-

a)
b)
C)
d)




[ WMakendra
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The average age of a husband and his wife was 26 years at the time of
marriage. After 2 yrs, then average of the couple along with their child
decreases by 7 years. What is the age of the child?

[ddTg & IHY U Uld 3R ITD| Udl Bl ™A 1Y 26 9y i 2 a9 & dIg, a™ld
3R 3d &= B 3{d 7 Y DH gl SIldl o | dd DI {1 F1 g2

a) yrs
b) yrs
C) months

d) D yrs




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

(0.73)° + (0.31)°
(0.73)2 — 0.73 x 0.31 4 (0.31)2

a)
b) 4
c)

d) s
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A shopkeeper sells 32 toffees for Re. 1 and loses 40%. In order to gain 20%,
how many toffees should he sell for Re. 17

U Gh[HaR 32 Tthdi 1 30 H dddl § 3R 40% DI 11 BIdl ¢ | 20% BT AT
T hA & U 3 1 398 | fhd-l Siithdi ad-1 91igu?

I

a)
b)
c}
d) ;

L 1
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A basket of apples was sold at Rs. 4200 when a 30% discount was offered.
What would be the selling price of the basket if an 18% discount was offered?

qd Bl T CIhRl 4200 39 H d@dl g I, Sd 30% B¢ Bl UHR Dl 715 AT | g
18% < | URIDHRI Bl Sl g, dl CIdR] &I [dehd Hed &1 gI?

g) 4800
b) s 4920
C) s 5080
d) s 5400




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A bag contains Rs. 5, Rs. 2 and Rs. 1 coins in the ratio of 4 : 6 : 9. If the Total
amount in the bag is Rs. 410; Find no. of Rs. 2 Coins.

™ 3

U ST H 5 34T, 2 20U 3R 13U & Rjddh 4 : 6 : 9 & iUl H ¢ 1 Al 1 H
R 410 YT © Al 2 T o Ryadpi Dl TE=AT J1d HIfoY|

a)
b)
C)
d)
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If X + 1/X = 1, then the value of x?° + 1/x%9 is:

gfa x + 1/x =18, dl x22 + 1/x8° &1 U |1 82

a)
b)
c) :
d)
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If 2 men or, 6 women or, 4 boys can finish a work in 88 days, then how many
days will 1 man, 1 woman and 1 boy together take to finish the same work?

gfe 2 g2 41, 6 AU AT 4 A 88 fa-l H U By R DR Jabd g, dl 381 DRI
DI 193, 1 Higdl 3R 1 Al [HadR fbd- &l § 1 HR God 52

a) ”
b) s
C)5

d) a




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

If a sum of Rs. 4400 is to be divided among three NGOs in such a way that
simple interest for each at 8% per annum after 2, 4 and 6 years respectively

remains the same, then find the difference between the share of 15t and 3rd
NGO.

gf¢ 4400 39T B AR I I TR ISR TS (THoiel]) & &9 39 die I
faHTford foar ST 8 T 2, 4 3R 6 9Y & &1 HHRT: 8% Ufd gy & foTT 18RI
&I GHA 38, I 1 3R 3 TR WBR! o4 @ lgRcRI & o &1 3iar J1d

DIy |
a) s. 1600
b) s. 1800
C) s 2000

d) s 2200
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When an integer P is divided by 9, the remainder is 4. What will be the
remainder if 5P is divided by 97?

e U gulfds P &l 9 I [qYTford faodr Sira ©, -Vl 4 AN ISl gl 5P P19 Y
fAUTRSTd PR IR ANBA T G2

a)
b)
c)
d)
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A alone can do a piece of work in 6 days and B alone is 8
days, A and B undertook to do it for Rs. 3200. With the help of
C they completed the work in 3 days. How much is to be paid
to C?

A 3Hd Th HTH DI 6 fod H T R Ihal © 3R B 3 8 i
T A 3R B A 3Y B B 3200 TYY H HA BT 15T IoM™T C
P! HaE ¥ Ioi- 3 e H o [ &R e/l ¢ &t fovar Y

[T ST 872
a) s. 400
b) s. 600
C) s. 375

d) s. 800
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